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If it is not relevant for a beating which is worth a P’rutoh

Overview

827 maintains that w°p? w1 derived the exemption 1w N1PoA *2°1 from payment
through the w17 of 701 701.2 One of the 0’109 of this w7 is YA o 107 0 WKY,3
so the X m3 asks, in that 105 the aggressor must pay, but he does not receive mpon.
The X 13 answers that since that 109 is not necessary to teach us that the aggressor
has to pay (if the damage was worth a 70179 or more),* apply it to a case where the
damage is less than a 7v179, in which case he will receive mpo». Our MdOIN explains
why this P105 (of 21 w°RY) is unnecessary (for a 7vINd MW 12 W 791).

Mmoon asks:
= 997D TPIVYIN NI 9NN ON)

And if you will say, but it is necessary for this case where the damage is worth a mw
D -
- (0w 3,50 NP N23) S9N YT PRIYVNY 19303 YN 1Y NP9 NaNnT

For it is from here that we derive in the beginning of 21177 P15 that one who
wounds his friend has to pay, and we do not say, ‘an eye for an eye’, literally —

N1v0IN answers:
INIPINN ENIPN PMTYNY 19203 Y2IND 7917 BNNYT ININ TR NIND 717 MY ¥

And one can say that our X923 maintains like the other 2°8in there in 52117 1o,
who derive from another 105, this rule that one who wounds his friend must pay.

Summary
The rule that one must pay with money for damage done to another person can be

! This moo1n is referencing the X723 on the bottom of the previous Tny.
2 See previous 2°n31 71"7 '0n (on the bottom of the 'k TMY).
31,73 (MMR) R
4 We derive the payment obligation from elsewhere (see %277 7"7 >"w" that we derive it from 12 102 13, etc.).
5 The 813 there derives from this very same w17 of 7137 1791, regarding these same 2°100 that just as by 7172 791 one
has to pay (71n2w"), similarly by 1n°»v2a 01 1n° *3 WK, he is required to pay money, but not wn» Py nnn Pv. How can
the X3 here say, 70119 7W 12 WOW ARI72 11 1K OX, when we see from 221777 that this 2109 is expressly discussing a
UMD MW 12 W RI7, and teaching us through 757 7121 that the payment is in money (not wn»n 1Y Nnn Py)
6 See >"w1 mentioned in footnote # 4. Therefore, according to the other 2°Rin (who derive the Pm?wn 21 by 211 from
other 2’»10D), the 105 of 31 O 10° % WR) is not relevant for a 7vIND MW 12 W*w 1XOA, therefore it can apply to a 1RS7
701D MW 12 7RY. See also X271 7"7 '010 on the previous Ty [TIE footnote # 24 & 25]. See ‘Thinking it over’.
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derived from various 2°?109.

Thinking it over

nmooIn already taught us that there are various ways how we derive that 17°2r2 52
is liable for monetary compensations,’ so why does he ask this same question and
give the same answer again?!

7 See footnote # 6 (towards the end).
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